Quiz Two _
Chemistry 121/100 FGH Name /{EJ/

1. Carry out the following metric to metric conversions: (3 pts)

a. 48.5mL to Liters 0.0485 L
b. 0.00712gtomg 7.12 mg
c. l.47kgtograms 1470 g

2. Carry out the following English to metric conversions using the conversion factors below: (3 pts)

a. 14.9 oz to grams {453.6 g = 1.00 Ib)
/ = 42z

14902z x 1 %@o& X 4/55.é7//é °2j

b. 5ft 6.5inches to meters (2.54 cm = 1.00 inch)
GG. Bin x 2.54em x Lm T e
c. 420 feet to meters (2.54 cm = 1.00 inch) /17 8
; / = Euw

D200k x (2ingpy » 259eme x 1mg

3. Carry out the foliowing metric to English conversions using the conversion factors below: (6 pts)

= L&D

a. 709 cm to feet (2.54 cm = 1.00 inch)

[O7em = //','/2.5-76»7 g //%/2,',0 = J3. 34

b. 65 cm3 to fluid ounces (8oz = Tcup, 4cups = Tquart and 1.06 gt = 1.00 L)

ééCm X/m/mj*//oomZX/Oég/)( %Xgo/z :Z.ZO£

c. 989 gtoounces (16 0z=11b, 2.205 Ib = 1.000 kg) Jgt e
?f x /K y 2205 thy x /bozE . 349
z
Vi o 25 °

4. Solve the followmg densﬁy problems: (6 pts)

a. Mercury has a density of 13.5 g/mL. What volume in liters would be occupied by 5.00

los of mercury (453.6 g = 1.00 Ib)
500l4s x 453.¢5/lp 5 /mL =/bSml = O. /68 L
Z /3,59

b. The density of airis 1.2 kg/m3. What is the mass in kg of the airin a room that is 3.0
meters from floor to ceiling and 4 0 meters wide and 5.0 meters long?

3.0mx40my 50m ~ 60,,7 X /2/[3/0, = 7¢7/€j
SO. 035 _j c. An empty graduated cylinder has a mass of 31.856 grams. 24.7 mL of an unknown

- 3/ Sé liguid are placed into the graduated cylinder giving the container with the liquid a
mass of 50.035 grams. Calculate the density of the unknown liquid. /8 /79 / -
/5.1775 o /24, Tml.
5. Perform the temperature conversions indicated: (2 pts) 0. 73é; Jn /_.
-32 =13 7°C
a. 56.7 OF o oC %7/3 =/3

b. -35°C fo °F /5 /-35) 432 = ~3/°F

Temperature conversions use the relationship °C = (°F - 32.0)/1.8 and its inverse.



